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" 1. Solve 25sin(0.5x) = 0.75 fo ‘ .
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2. To find the distance between two points A and B on opposite sides of a Iéke, a surveyor chooses
point C which is 720 feet from A and 190 feet from B. If the angle at C measures 68 degrees,
find the distance from A to B to the nearest foot. Show work.
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3. Find the area of a triangle \(m*?ie lengths 7 feet, 12 feet, and 8 feet. Show work.
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4. A square with diagonal 20 cm long is inscribed inside of a circle. Find the total area of the four
regions between the circle and square. Show work. '
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5. The minimum and maximum average temperatures for Orlando, Florida are 15 degrees Celsius
and 28 degrees Celsius and they occur on the 15" and 197" days of the year respectively. Write
the equation of the sinusoidal function that predicts temperature (T) in degrees Celsius as a

function of day of the year (d). (Y 245 W ‘
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6. A plane is flying from city A to city B which is 115 miles due ngrth. After flying 45 miles the pilot
must change course and fly 15 degrees west of north to avoid a thunderstorm. If the pilot 7
remains on this course for 25 miles, how far will he be from city B? Show work. 7
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7. You are standing 10 feet from the bottom of a leaning tower. Find the ladder length that is
needed to reach the third floor of the tower if the'ladder is placed where you are standing. The

Qy angle between the tower and the ground is 108 degrees and the angle formed by the ladder and
@ the tower is 20 degrees. Show work.
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8. Solve 4sin’x—3 = 0 on the interval [0, 2rt}. Show work.
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9. Solve 2sin*x—sin x -3 = 0 on the interval [0, 2it). Show work: (L )(-— 3) CE 4
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10. Verify the identity —— =35ecx—tanx
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sin(-x)= = m/q,
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cos(2n+x)= CleSx = /1-

cos(2n—-x)= ——
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., (Multiple choice). For 0 <x < /2, the expression : + —is equivalent to:
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